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(1) Law of Large Number

(2) Central Limit Theorem

(3) Level of Significance

4) p-value
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2. HAF RN NERERIFRE - /NS - EE=EHNKER-ER GDP SR TS
2008 | 2009 |2010 | &fESPiy | ETEHE
=0 073 |-1.81 |10.72 |1.51 321
B 230 020 |6.06 2.22 2.85
gromgz | 149 |-077 | 1447 |2.86 5.06
A 231|266 |697 1.39 2.21
RIZILEER - ([MEVIBRE S GDP TR IUNEEERFEAEEB® HEHEEm. %)
3. A BN C=FE, S (8 FELIMRAN % (BENr . %) B TL 8 BRI T 35

5 {BEE EETRHASRAN = SRR R
%) | 1 2 3 4 5 Joeov A B C
A |20 |140 |-100 1200 |27.0 |A 237.200 97.650 | -127.850
B |85 |40 [150 |255 |200 |B 97.650 | 225.675] -189.325
C |170]1280 |1.0 |-20 |92 C | -127.850 | -189.325 230.8
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E(y)=x+b > e,.~N(o,az), i=1...5
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6. B X Y#R MASE(Poisson S0 B EAEIL » SEATIE AL, - ST X +7 = nbIMEAET » X 8
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P(X=kX+Y=n) P(X=kY=n-k)
P(X+Y=n)  P(X+Y=n)

7. FBREEASEE  HPRA—EETERE - ﬁﬁ{ﬁiﬁﬁ{mﬁ%ﬁﬁ%, AF—E B  BERARERSE, kA
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() P(4B) i - (Z) MEEHT » AR BEBIEE (10%)

P(X=kX+Y=n)=

: +y 0<x<1,0<y<1 1 1
8. f(x,y)={z g e g s+%P(X<ZY=§)o (10%)
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P(t<t(a,df)) =

t(0,9,3) t(0.95,3) t(o.975,3) t(o.99,3)

1.637744 2.353363 3.182446 4.540703

t(o.9,4) t(o.95,4) t(o.975,4) t(o.99,4)

1.533206 2.131847 2.776445 3.746947

foss)y ) Hossy) Y0975.5) Y(099,5)

1475884 | 2.015048 2.570582 3.364930

P(z<zy)=a

Z(0.9) Z(0.95) Z(0.975) Z(0.99)

1281552 1.644854 1.959964 2.326348




